Apartment in Luqa



Luqa, South



€355,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): **105**

Reference No: 240061193-16

Bedrooms: 3

Apartment - For Sale - Luqa

Luqa - New to the market 3-Bedroom 3rd floor APARTMENT- Located in a tranquil residential area in a block of only 8 units. Larger than usual layout consisting of a spacious Open-Plan Kitchen/Living/Dining, 3 Double Bedrooms, 2 Bathrooms, and a Front Terrace. This property is being sold finished state excluding Doors and Bathrooms. Served with lift and Freehold. Construction work to commence in November 2025. Estimated Completion date June 2027 and Optional Garage available at an extra cost. For more information or to set up an on-site viewing, contact one of our agents now!

Features

- ✓ Lift
- ✓ Water Utility
- PVC Piping
- ✓ Pool
- Pool Deck

- En Suite
- Electricity Utility
- ✓ Double Glazed
- Back Yard

Rooms

Kitchen/Living/Dining: 4.51 x 8.81 m (39.73 m2)

Double Bedroom : 3.6 x 3.95 m (14.22 m2)

Double Bedroom: 4.19 x 3.65 m (15.29 m2)

Bathroom: 1.9 x 2.95 m (5.61 m2)

✓ Bathroom Ensuite : 1.27 x 2.53 m (3.21 m2)

Open Space : 24.86 x 4.39 m (109.3 m2)

✓ Double Bedroom : 3 x 4.64 m (13.93 m2)

✓ Walk In Wardrobe : 1.27 x 1.93 m (2.46 m2)

Gallery









Elstan Grech Patignott
RE/MAX Superior - Fgura

M: 99041810

E: elstan@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta